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Is this Group for Examiner?: No
Botany

Section Id : 81356128

Section Number : 1

Mandatory or Optional : Mandatory

Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 1 Question Id : 8135611441 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the following plants with diseases they are resistant

1. Pusa Komal 1. Hill bunt

2. Himagiri . TMV

3. Pusa Subhadra ii.  Bacterial blight
4. Pusa Sadabahar iv.  Black rot

$ob DHS” g L T JEGS an}g&.S 2288 DO

1. Sypar §506 1. o385 eots

2. 20R0 i, Odod

3. HPar 3G iii.  ergBOS f Srew
4, [y Do w6 iv. & L%y
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Options :
| % (1—-1i), (2—1ii), (3—iv), (4—1)

, o i), 21, B-iv), (4—i)
L -, @—ii), B—1), (4—ii)

4% (1.— i), (2—iv), (3 —i), (4-1)

Question Number : 2 Question Id : 8135611442 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Which of the following characters is not a difference between dicot and monocot leaves?
BV D DI, DSV D DI K] SEro) S8 T8 Bde G

Options:
Differentiated mesophywil
DBBDo (o DTroddda)

Distribution of stomata
DY GoTre DAGD

Presence of chlorenchyma
3708 Speererd) $9A Gocow

WVascular bundles

TP oden
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Question Number : 3 Question Id : 8135611443 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Common vector less gene transfer method adapted in animal cell

& &0 2od) gerees’ O JUErE Jared 20 069 Sokw DG

Options :
Microinjection

P ‘&wi& 2903 Z

Gene gun

, % &6

Biolistics
- a3 das
8 e

Disarmed pathogen vector
. 55028od 38 30D Br15°0 T

Question Number : 4 Question Id : 8135611444 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Bacterial Mesosomes does not mvolve i

er$B0IrS’D ATV D0y S0d TS IS

Options :
1. %
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Respiration

?S*rbéom

Secretion

5 % TS0

Protection

3 @ o -A>r]

Replication

, % 2089

Question Number : 5 Question Id : 8135611445 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The opted herbicide to kill only dicot weed is

2Nl D D08 VA DTSR BoDLL TC o) I°F5°0
Options :
| = ABA
2, % 1BA
3 % GA3
2.4-D

4, &
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Question Number : 6 Question Id : 8135611446 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the following

Plant Economic Importance Family
a. Ashwagandha i,  Medicine p. Fabaceae
b. Tulip ii. Fodder q. Liliaceae
c. Crotalaria iii.  Ornamental r. Asteraceae
d. Allium Sativum iv.  Spice s. Solanaceae

S0 BADHEHAW

% 308 o oo
a. ©3(floss i Tado p. FED
b. w@& . DITEAD q 9daba
c. Sedboir iii. 900566 I. Gfgﬁi’a
d. odahHd 205 iv. R 5. TN

Options :

_— (a—i—35), (RNiil—q), (c—ii—p), (d—iv—q)
, % (a—iii—s), (b—i—q), (c—ii—p), (d—iv—r)
(a —iii—s), (b—=ii—q), (c—i—r), (d—iv—5)

3, #

g« @—i—s) (b—ii—q), (c—iii—p) (d—iv—r)
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Question Number : 7 Question Id : 8135611447 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The dominant phenotype is dependent on which one of the following?

28S c5y3] Grdo $08 TIS” B BLEEHE™?

Options :
Functioning of modified allele
, D700y DB clid), DELo TB0E) D D

Functioning of unmodified allele
S0°00y Bt Q) ilsg;jo C30E), O D
H [T

Nonfunctional enzymes
o SOOI G DoZwen

Nonfunctioning of unmodified allele
Soir Gaoeh ;.‘U“d.':;j Bl cﬁ.nﬁé 3)59.3:]0
“

Question Number : 8 Question Id : 8135611448 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Practice of mating of superior males of one breed with superior females of another breed 1s

28 enard 6 DS AE Denard ed 2D 2060 BOHEE)

Options :
Inbreeding

2R PoRAO
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Outbreeding
E‘.J“":J"TS POEATERNTL

Out crossing

E-J“"ﬁ“é }boi::-dbn

Cross breeding

4 wPo2/0

Question Number : 9 Question Id : 8135611449 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Assertion (A): Leghemoglobin 1s Oxygen scavenger

Reason (R): it protects Nitrogenase enzyme from Oxygen

DI o (A): T FArHDD 8312 J),donb
52600 (R): 98 5238 doZ0 & 38\ Aow) 6£0t
Options :

A is true R 1s false
1 % ‘A’ D0 odd. R D0CHAG 57

A & R are true but R 1s not the correct explanation for A

5 % A’ 208050 ‘R %8 003, 520 R @038 ‘A’ D RBCDAD DS6E S°C

A & R are true R 1s the correct explanation for A
3 @ ‘A 08030 ‘R 20 e9and). R 936 A’ £ 2B DD6e

R 1s true A 1s false

4 % R 20 200086. ‘A’ 200006 5
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Question Number : 10 Question Id : 8135611450 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the following codons 1n the columns I with their amino acids in column II

Column-I Column-II

1. GGU 1. Methionine

2. UUU 1. Stop

3. AUG u.  Glycine

4. UAG iv.  Phenylalanine
v. Valine

2068 G 6D) STrP 2 DSOS &d) VNS vATVE 28 Baod

SOHD-1 SD-1l
1. GGU i OIS
2. UUU i1, 908 N
3. AUG il 0O
M N\UAG V., 2O 0D

v. 393

Options:

2 = (1=ii), 2—iv), (3—v), (£+—i)

3 ¢ (1—iii), (2—iv), (3—1), (4—ii)
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, x A—1v), 2—ii), 3—iil), (4—1)

Question Number : 11 Question Id : 8135611451 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following fungi with their common names

Column I Column IT
1. Ascomycetes 1.  Imperfect fungi
2. Basidiomycetes i1.  Sac fungi
3. Deuteromycetes 1. Algae fungi
4. Phycomycetes 1v. Bracketfungi

208 3Domrodd T8 Jrrdn THINS 2S DEBE

BE-| BE-I
1. )28 i. Ro20y§ 3Dogo
2. BHAGTrDHED ii. 8 Dod (3Doco)
3. GrOE RS iii. 350 20ogo
4. pEHAD iv. er3e5 Dob (30odo)
Options :

L x =D, (2-ii), B—iD), (4—iv)
, o @—i), 2—iv), 3-1), (4 iil)

o x (L—iiD), @2-1), B—iD), (4-iv)
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, o A=), @—i), B—iiD), (4—1)

Question Number : 12 Question Id : 8135611452 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following column I with column IT

Column I Column IT
a) E coli 1. 5386 bP
b) Human ii. 48502 bP
c) ¢px174 iii. 4.6 X 105bP
d) Lambda Phase iv. 3.3 »4R bP

208TDe5° Fo | & Fodd Il & 2a8D68030

oo I Sodo II
a) & Eg i. 5386 bP
b) SordPeo ii. 48502 bP
c) ¢ x 174 iii. 4.6 %X 10° bP
d) erde 0 iv. 3.3x10°bP

Options :
_— (a—iii), (b—iv), (c—1i), (d —ii)

5 % (a—ii), (b —1), (c—iii), (d —ii)

L o @—ii), (b—iv), (c—ii), d—1)
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(a—iii), (b—ii), (c—iv), (d—1i)

Question Number : 13 Question Id : 8135611453 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Engler and Prantl published a phylogenetic system in the monograph

Dof 228a10 FrotdS 0 & ArSTD & 1 IR B[S PV

Options :
Die Naturlichen Pflazen Falmilien

, ETEOED FoBD DD
1. by

Historia Plantarum

f‘.rgﬁ&o:ir é"oéﬁ“tﬁo

Species Plantarum

) njg:::fa é"c&:ﬁdo
(Genera Plantarum

556 é"a&:“’dc

Question Number : 14 Question Id : 8135611454 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Major structural components of cell membrane are
?&é@.ﬁﬁ" 5°D 2008 JT7ETFB) S RO

Options :
Fats

S

Oils
ATTDED

Steroids
2T 0O
(5] o

Phospholipids
IU\DDES

Question Number : 15 Question Id : 8135611455 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Homogamous species 1s

3D DodErH Darew

Options :
Funaria

QP80

Cladophora
sEDS

2. ¥

AP EAMCET 2020



AP EAMCET 2020

Pteris

Question Number : 16 Question Id : 8135611456 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Age of the tree can be calculated from

SyT0 S0V B Aol T F6?

Options:
Annual rings

08 Sewodren
1.9 o2

Phloem

g gmeroo

Pith
5535}

Xylem
~pleb Bu))

Question Number : 17 Question Id : 8135611457 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
AP EAMCET 2020
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Orientation : Vertical

Which of the following 1s wrongly matched?

5HE3e5® 298 oD 2 AA?

Options :
Sugarcane- Kranz anatomy

BOL8)- SPoB wo@&‘lmém.m;

Blackman- Law of limiting factors

S0 VIRTE i}g‘*a@;ﬁw

PSI- Pyoo
sﬂoeiaaﬁ?g;ﬁ‘g ol .

PEP Carboxylase- Bundle Sheath of Cy plants
PEP E"U‘aé‘)&!‘“i‘.‘:- C4 2080 TS o S oD

Question Number : 18 Question Id : 8135611458 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which step n TCA cycle. substrate level phosphorylation occurs?

TCA Seaio e5° 2 ¢i$e5” SEN guma S TI\BTAD 2OM?

Options:
Conversion of 1socitric acid to oxalo succinic acid

. RUVESE 300 55185 0E\IS e AT Edy BB
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Conversion of a-ketoglutaric acid to succinyl COA

a-$85°tHerBS 50 DEDS §-DoZD0-D 1 ATEdY BoBDINYED

Conversion of succinyl COA to Succinic acid

3 ¢ 81D §-DoBI0-2), VEIS BT By BoBIIDYD

Conversion of succinic acid to fumaric acid

25405 800 ID{0S BT JTEd BoBRDE
4. %

Question Number : 19 Question Id : 8135611459 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Enzymes. which help in electron transfer are

VTS CTETS” GDATHDE Do

Options :
Cytochromes

1. %

Proteases
FHDHE e

[somerases

5w DT 0B

Nucleases

AriEadd
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Question Number : 20 Question Id : 8135611460 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Phloem sap 1s mainly

g gmzre GRoes” SSLENC o G0t

Options :
Glucose and water
| x OPED 2080w D&

Hormones and amino acids
o SFELRO 0B DS edren

Water and sucrose
3 R 2Bt WED

Amino acids and water

4 % O e 208050 A6

Question Number : 21 Question Id : 8135611461 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following column I with column II

Column I Column IT
a) Chlorophyll-a 1. Yellow-Orange
b) Chlorophyll-b ii. Yellow
¢) Xanthophylls 1i1. Blue Green
d) Carotenoids iv. Yellow Green

208T°e5° S0 | ) o Il & 28Dt

Eodo I Eodo T
a) §8e5-a i DAOY)-e500S
b) §&De5-b ii. DAY
c) @1y il QY esoDdy
d) s8OToEY iV, DAY ST

Options :
 x (@=iv), (b—ii), (c—ii), (d=1)

L @@=, b=, (¢—ii), (d—iv)

. (@—iiD), b= iv), (c—iD), (d-i)

4 % (a—ii), (b—1), (c—i), (d =)

Question Number : 22 Question Id : 8135611462 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In which pair both the plants can be vegetatively propagated by leaf pieces?

8ot TS D g VS’ THOD DBBNS DG A0 BT BODIOY?
Options :
Agave and kalanchoe

1 % ©TTD 20BOID S*erer)dir

Bryophyllum and kalanchoe

5 ATV HOBOK STUrot)rT

Chrysanthemum and Agave

5 % 3FoBH0D0 2B eTD

Asparagus and Bryophyllum

4w "B 0BT LIV

Question Number : 23 Question Id : 8135611463 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A horizontal underground stem is

RNaTodd z,'b'“l‘ﬁtﬁa Stolio

Options:
Corm

1 % Solio

Phylloclade

> FTL SPotio
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Rhizome

gadw
3.0 e

Rhizoid
2P oo

Question Number : 24 Question Id : 8135611464 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Select the neutral amino acid among the following.

2007 DS” S0P S 3205

Options:
Lysine
| % G0

Glutamic acid
(08 €520

Valine

L 993

Phenylalanine
DD OAD

Question Number : 25 Question Id : 8135611465 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020
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Choose the incorrect pair of applications with methods

SoBI*VS” DL dasw DBV 28 5O
Options :

ELISA- detection of antibodies
1% ELISA- 28655080 dothhtrsd

PCR- mutation in genes
. PCR- E‘arﬁjé a@haaganum S A LD

2
DNA fingerprinting — Forensic sciences
- DNA 0616 otofi- DEDHBT D T2

Gene therapy — Parentage disputes
A 230§ BGo- &9 oo STrETen

Question Number : 26 Question Id : 8135611466 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Match the following column I with column IT

Column I Column IT
a) Z- Gene 1.  Inducer
b) Y- Gene i1. Galactosidase
c) a-Gene ii1. Permease
d) Lactose 1v. Transacetylase

208775 Eod | 2 S Il & 28065090

Sodo I Sodn II
a) Z- 20§ 1. 20eJ00 S°OSAD
b) Y- 2304 i. TSHENES
) a- 20§ 111. ::ﬁédi)é
d) o8& V. ¢rdy ANBSE

Options:

u (a —ii), (b —iv),. (e —=iii), (d —1i)
P (a—ii), (B iil), (c—iv), (d —1i)
4 % (a—ii), (b —iii), (c—1i), (d—iv)
Question Number : 27 Question Id : 8135611467 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Which of the following 1s not an advantage of selecting drosophila for genetic studies?

S8 ToS" 230 20F 3300 ETDeran I0) EIrd$ do s6ndn 56

Options :
Undistinguishable
1 ¢ DERDS IS

Shorter life cycle

- LS 20 STOAD

Grown on synthetic medium

L $HO e D DM

Produce large number of progenies

a‘J!.-‘-JG;ﬁ aoaaéeﬁﬁ RoBduw) &G Yol
4. % )=

Question Number : 28 Question Id : 8135611468 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

First transgenic cow with human alpha-lactalbumin gene 1s

Q0GB J0D 587y TSRS BRGNS SFED BADODHED B,

Options :
Hinny

L}

- o)

Mule

;'.‘1.1:“59.'5
2. %

AP EAMCET 2020



AP EAMCET 2020

Dolly
3 % &9

Rosie

L o ES

Question Number : 29 Question Id : 8135611469 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The use of which one of the following bacteria has led to probiotics?

808 T°0S° D erg8air Fadirdsy drYodontods’ &dydan?

Options :
Acetobacter
92856
1. % e

Lactic acid Bacillus

v U"%é R332 e

Propionibacternun

- THArD ergBabo

Clostridinm

seodaio
4. % T &

Question Number : 30 Question Id : 8135611470 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Fertilization in angiosperm is

e3:9¢9 Dareds” DOASOH

Options :
Oogamy
« 2906 Ro03T o

Isogamy

5 % e AoGirtio

Anisogamy
% 920 Voo

Siphonogamous ocogamy

4. TERTS 9ol DoiTrto

Question Number : 31 Question Id : 8135611471 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following

Cross Prototype Genotype
a. Monohybrid i | g Lid 1242521
b. Incomplete Dominance ii. 31 g 1:2:1
c. Back cross i 9:3:3:1 £ k2l
d. Dihybrid cross iv. 1:1 |
SoBTAN BADGEAN
D05086RAD dﬁsm“o’)&l\) HB&J&C&J‘K)&D
2. DS0SEAN A | p. 1:2:1:2: AF N
b. @00 L7083 i, 3:1 q. 1: 2%l
€. 2T VoS0 i, 9:3:3:1 r A )
d. & Vosdeain iv. 1:1 g’l:1
Options:

L x @—i—p), (b—ii—q), (c—iii=1), (d—iv—s)
5 \_X(a—ii—q), {(b—=ik—48% (e—i—=p}). (d—=n=r)
3 % (a—ii—n\(b—i—q), (c—iii—p), (d—iv—s)

4% (a=iv=2aq), (b—iil—=38), {¢—i—p), (d—il—r1x)

Question Number : 32 Question Id : 8135611472 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Temin worked on which virus?

3D D DED WG D BT

Options :
Rhino virus
B DO

Dengue virus
G0 DD

Herpes virus

OV POD

Retro virus
0¢5° D6

Question Number : 33 Question Id : 8135611473 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The pressure exerted by the cytoplasm against the cell wall is

S£3 SIS ééﬁﬁSan“ SEID A Sens B2 Do

Options:
Root pressure
| % DO DEDo

Pressure potential

NED 38
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Imbibition

3 % DFrdo

Tlll'gﬂl' pressure

ia:}ej Do
4.4 -

Question Number : 34 Question Id : 8135611474 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following possess Ovule without integuments?

SoBT=eS" SI9 Gardd oo SORS

Options:
Helianthus
| % TOAIToBD

Loranthus

> e odhm

Maize

- :msb é@féﬁl
Datura

e S92

Question Number : 35 Question Id : 8135611475 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Multiple epidermis on dorsal and ventral side of the leaf 1s found in

DS DT EC Seres” v erir| o $9ANG

Options :
Nerium

| v DBanS

Zea mays

5 % 203 20

Ficus Bengalensis

3 % DS BTy

Mangifera indica

4 % ST°0RDC QoC.S"

Question Number : 36 Question Id : 8135611476 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The spathe in Musa is a modified

e edes” 08 B drJroddo?

Options:
Petioles

S S oS0

Bract

| RO
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Bracteoles

3 % D0 DAYy DWW

Question Number : 37 Question Id : 8135611477 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The millennium ecosystem assessment grouped ecosystem services. Choose the correet categories

DGA0Da B0 k) WYL BIGE DY Notods R0’ D8 oM derren
Options :
Learning. Provisioning. Regulating, Cultural

1 % QN 5D DDV, DEER EIFD DD, DOVOGETES] S DD, DORHE WO MDD

Supporting. Provisioning, Regulating, Cultural

v TG QPOLS VD, DEOHSR EFD DO, ACLOBEFELE DD, DOR)HS VoL ML)

Extracting, Regulating, Cultural. Learning

3 % 2800w e, K}c:imgj_;m“@éé e, ‘&)nm@@ 0L fIDED, ;Smagﬁb e

Extracting. Supporting, Cultural. Learning

4 % 25000 Mo, esoro QPO Sdadend, ?ac:-‘;tn@eia 0RI0C) Pade), émae‘aé aeL)

Question Number : 38 Question Id : 8135611478 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The development of an embryo from an unfertilized female gamete is known as

HOASCE BoG @ VodErt H2sw Aol Doto DB Botw

Options :
Parthenocarpy

1 % BQASIHONO

Parthenogenesis

5 90238 22050

Apoimixis
3 % R0 D2z

Poly embryony

4w IO oGS

Question Number : 39 Question Id : 8135611479 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a girdled plant. the position'of the bark above the ring on the stem becomes swollen because of

DO 1) msbef VOIS P S0k B 2Prlo EVYTAS 5080

Options:
Absence of Xylem

| % TOD 5 0G0

Absence of Phloem
> g Emareo S hodco
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Absence of Bark
S50 e oo

Absence of Pith
ol
4% €30S, €5 OG0

Question Number : 40 Question Id : 8135611480 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Endomembrane system doesn’t include which of the following?

30BN 9060 B .;j?gaj"r&)é'e E0EDA DO?

Options :
Endoplasmic Reticulum

220638 GofErODD

Golgi Complex

n‘*@ ‘&)0%@0

Lysosome

3 % g Jo

Mitochondria

Qe Aol ol
4.9 =

Zoology

Section Id : 81356129
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Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions: Yes

Mark As Answered Required? : Yes

Question Number : 41 Question Id : 8135611481 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the wrong matching related to cockroach

BSDQOSE‘Q Rotiofow) DS 2¢h Botiod

Options :
Sound receptors — Anal cerci

THET (EP5Te — raiwarorTen

Development — Paurometabolous
ODD)E ~ Jo° 20eeS"VR

Spermatheca -present in the 8th segment of males
NGBS — 2DHENRNHL 8D BoldAnsS” Eotod

Oothecae-14-16 eggs.
&OT — 14-16 (o

Question Number : 42 Question Id : 8135611482 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which two among the following four statements are incorrect?
1) Fructose 1s generally absorbed by simple diffusion

2) The digestive wastes, solidified into coherent facces in the rectum initiate an endocrinal
action causing an urge or desire for its removal

3) The food mixes thoroughly with the acidic gastric juice of the stomach by the churning
movements of 1ts muscular wall and 15 called the chime

4) The secretions of the brush border cells of the mucosa along with the secretions of the
goblet cells constitute the succus entericus

306 @D Te0r HIBIAWOR SBD BYYT &) Tod PHSTOD HBocHAD
1) P88 FrroniOm™ A0V DD DEE 6 FR0senD)
2) &gaw 5D DG DT D0 Taw 36 VDTGP 3578 £908 s 200D
JrG0Doc) DL Donod E8E 4DA0d
3) agrsan e oo oM 96)0h SESRD 26 eOLS B0 BRI BFEAE"
gendnod A 32 Botm
4) PED POA” o T Lo o Smre Foren Hdaid THS S g, Forew

&8m ‘A)Sbfa JotIB5eR eaotFEd

Options :
L v D&

2 % (2) &(3)
3 % 3) &)

Question Number : 43 Question Id : 8135611483 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Regarding ecological food chain. man is a

533505 AN ATPRHDH WS

Options :
Producer

| ST

Consumer
5 o PAATATTE

Decomposer

- :)tﬁjaég‘?m

None of these options are true

4 % @ 28D VOO 5T

Question Number : 44 Question Id : 8135611484 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A free-living round weorni 1s

& 808 T7DS" RTINS M0 P

Options :
Enterobins

| % DoBEDADD

Trichinella
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Rhabditis
cﬂgeﬂlfa

Dracunculus

4 % G50

Question Number : 45 Question Id : 8135611485 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements 1s incorrect?

1) Neuroplasm of neuron contains myelin sheath, neurofibrils and Schwan cells

2) Cyton of neuron contains smaller branches called dendrites: theses conduct impulses away

from the Cyton

3) Myelin sheath 1s not continuous, It 1s interrupted by gaps called nodes of Ranvier.

4) A long branch that arises from eyton 1s called axons which catry impulses towards the cyton

& 800 D" 0 5D PITD) bBocol?
1) résm B mgamj* DB Feorm, T& APE)BodirD Bt aP(D SEPeD Gotrad

2) PCEman aIog), Biraw Zozéhy e ﬁ“egmom 8003 Ao Ero $DR otron. 4l Sndiran

Aoc. erarg 336" e DI ETUR ©oBIon
3) 200008 B BDHND) ST Goc. A26° esercaam &) TP TADG SR0ED ot

4) PE4m Barad ok &yDo) &8 w8 T DoY) FOJELAD Sotr. EodS LA
T6 S G0N 980 6 Sndait) 0odJon
Options:
1.v 1

|

2. %

(%]

3. %
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Question Number : 46 Question Id : 8135611486 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

According to most conservation biologists. the single greatest threat to global biodiversity is

U Dol &IPIE| VBT TRISL Y500 & TS T £0Aotd IR SR

Options :
Insufficient recycling programs for nonrenewable resources.
DRI E BODTA DAV VBB 82080h DEB0D g8 THe

Global climate change resulting from a variety of human activities.
3D BO[R DOBIWMT BFHTHE0 P 286 TT DS DTN

Stratospheric ozone depletion.
FE5°0 0506 Dotk LES SHY e

Alteration or destruction of the physical habitat.
R TS BT T3 S A9y Dot

Question Number : 47 Question Id : 8135611487 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the incorrect statement among the following

1) Fore limbs 1n mammals such as bat. chetha. whale and man 15 an example of adaptive divergence
2) Malthus stated that the population does not grow exponentially because of limited resources

3) Hugo de Vries stated that evolution is a directional process

4) Organism with shorter life span evolve faster than the organism with longer life span

30828 9B 52 PHITA) Mool

) (dyoren Awcoond $10070 QPFTGOM, S0 B0 TN BEFY BIFG

0B
2) HODAT E:) HIVVIVD 2T ArdoD HPAS” DESTIEIS TR APYD DA BT w)
3) poff & 90 danberidw w8 BTays piab e 98) T\ ®
4) ety BI50a0 &9) 23, AR BI50a0 &d) daan) Soff BB VORI

Options :

’I.%1

| ]

3.¢

Question Number : 48 Question Id : 8135611488 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A prolonged constipation may cause

&:gs“v SovrBsSe JVD SIS

Options :
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Dysentery
9B G0

Ulcers

2. % Do&

Hemorrhoids

aﬁ.uﬂe_:a'*éc,ﬁ
3.¢

Cholera

4. % ={3len

Question Number : 49 Question Id : 8135611489 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the type of bone with proper example

0BT VS° B 900 2 B

Options :
Cartilage bone — Bones of limbs. girdle and vertebrae
;ﬁ.}éc;’:ae_ri‘% QIANE — (2T eMreD, PVRD, DAY PR

Sesamoid bone — Ulna
DRATOVE DS — U™y

2. %
Investing bones — Cranium
| STV ~ STRAL
3. % -
4.9
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Visceral bone- Ribs

©odCor DAWNSLD ~ D) BDVSeD

Question Number : 50 Question Id : 8135611490 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Taxonomic luerarchy like kingdom. class. order. genus and species were mtroduced by
(1) . Taxon phylum was introduced by (2)

;:aéécica oo’ o, Darn, 205w, Y, 8 Ok HEvd PIINITD
(1)__ 0Baso &rsey®, 36000 998 DROTH __(2)

Options :
1-Haeckel 2-Carolus Linneaus
| % 1-33°8¢5 E-Ell:ﬁ;lo‘.bi:n
1-Carl Woese 2-Haeckel
5 % 1-5°0 &= 2-23°8e0
1-Carl Woese 2- Carolus Linneaus
1-5°6 exd E-E)é;lo:bfa
3. % o

1- Carolus Linneans  2- Haeckel

1-95) 00D 23386

Question Number : 51 Question Id : 8135611491 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Nuclear membrane 1s absent in

& 308 T°€3e5° Sods S(do T 2aHen

Options :
Volvox

a“e.:r“géb

1. %

Nostoc
e

Agaricus
DA

3. %

Penicillium

4 :Jb:)aﬂ'.ﬁu

Question Number : 52 Question Id : 8135611492 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Choose the correct statement regarding filariasis.

1) Third-stage infective nematode larvae enter the mosquito gut when the mosquito bites infected man.
2) Nematode larvae mature into the thread like adult worms in human gut
3) Adults worms produce microfilariae have diurnal periodicity

4) A mosquito mgests the microfilariae during a blood meal

RIBCIERN L Doeodoc) HB 00N POEHA Hiodod.
1) 56 00 Ty B ORI, AP 63 Gonsen G b YA §'D3 Stomran
2) arapR) eabervanne)” DG erogen Growy it dofd T daprare H8ed Socvaran
3) e 2apen &G S0 DEPTBaITD Diiey IENH AHYM
4) g3 Dogane ATRRDED SP(O5y B DB o5 ey E pFbado donsrn B
SOIOETN)] BhEEaw
Options :

1.% 1

| o)

4.« 4

Question Number : 53 Question Id : 8135611493 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If most individuals in a population are young. why 1s the population likely to grow rapidly
i the future?

w8 2Terd’ ©AS BHL) DL NS B Jow DOMHBD) 2T AFDRH?

Options :
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Many individuals will begin to reproduce soon

TR sr0H0005° rer e ‘Qei:}geﬁﬁi? G B SootTro

Death rates will be low
SAoder W e:ss%:x

Immigration and emigration can be ignored

SODTHEIA, DA DA EDLonshAdS

All of these options are correct

& BTree e:nb;l 20 00D
4.

Question Number : 54 Question Id : 8135611494 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Rachel Carson’s famous book “Silent Spring” is related to

€36 576\ TR "DT08) DYf” PVSo BAS WotloBoWdE?

Options :
Population

| x BT

Pollution

STeLalo
2.9 Q%S

Ecosystem

B 500 .;515;5;’\:
3. 3 L
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Community

4 % a0

Question Number : 55 Question Id : 8135611495 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Which of the following is/are correctly matched?

1) Statocysts - Organ of balancing in Arthropods
2) Radula - Rasping organ for feeding in Mollusca
3) Choanocytes - Collar cells in Cnidaria

4) Proboscis gland - Excretory organ in Hemichordate

S8 T385° 2B o 2 (e) MBotied.
1) Qﬂ&’j‘hgb - Hgﬁﬁc:“ Do’ R};ﬁ.}@“f‘g@ 930D AW
2) TER(or- 00 VS’ BTN wrot) ISTRD Srren
3) EahSpisy- ABBar BHws” E0s Srren
1) SwarRPe] ddot fod — PRSI SHOS” DG ©I0HBI

Options:
Only 1 and 2 are cerrect
1w 1.2 30080 2B e90d)

Only 1. 2 and 3 are correct

5w 1.2.3 @0 Srgd 20 odd

Only 3 1s correct
3 % 3 A8 VB oG

Oanly 1. 2 and 4 are correct
4 v 12,40 2080 28 9000Ra)
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Question Number : 56 Question Id : 8135611496 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following Mendelian traits is present on the 5% Chromosome?

0BT’ 55 Eard awp &) 20adohHd vEno

Options :
Pod Colour
1 & T°03 Gorbd

Pod Shape
s°0d) es570o

Pod Position
seod Frdo
[}

Flower Colour

an Dayo Gorld

Question Number : 57 Question Id : 8135611497 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement(s) are correct regarding fission in Euglena?
a) Nucleus undergoes meiosis.
b) Gullet and stigma duplicate but flagella do not.
¢) Exhibit transverse fission.

d) During fission V-shaped cleavage forms in the posterior of the cell and gradually
splits the entire cell into 2.

S0 TAS° AWAT BB Rotofod) O BONM PIBNZN(e0) MBotsod.
a) SoB3SAn LoECE DD BHODW
b) SeaRR), IBLYE), BIAREERAN BodRd °A) DSerdAw PN Boddd
¢) 96 ALBNG PP
d) DD\G HobHae” Horesin &° V' 056y mé D6yé DG To
ST 0252 0t3eIEI

Options:
Only a 1s correct
1 % @B VO VoIS

a.bandd
> % & b. Sodaoin d

Only d
d Soraddo

None of the statements are correct

4 v D DIVIID VOERG S

Question Number : 58 Question Id : 8135611498 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Study the following statements and select the mcorrect ones.

1. ‘Bt’ in ‘Bt cotton’ indicates that 1t 1s a nongenetically modified crop produced through

biotechnology.
1. The anticoagulant ‘hirudin’ 1s being produced from transgenic Brassica napus seeds.

il ‘FlaveSavr’ transgenic tomatoes remain fresh for a longer period than the normal tomato variety.

1v. Golden rice 1s a transgenic variety of Oryza sativa, which 1s rich f-carotene and helps to prevent
colour blindness.

208 PIBTON 90 e’ W0 52D hdociod
L BLOS & Bt & D60 23-r03as D08 o 3 ArBE THoDRENB B Ardiged
if, POHED BIOE PEV06E YIS TRPH V0l BAFHOSTH
i1, ‘FlaveSavr arer Foroem Lartr Sod DQJ?JS_‘) R0 TEEFT ot
Iv. 20 DET BN Lo 90 s @Lf ArByE PAODBED 8. 26 B I SRR VW

&ot DTSN =0 Al =rS TV h o TATAR 3 DI1TA)

Options:
(1) and (1) only

o () o (i) ared

(1) and (1v) only
5 % (1) 0O (1v) &g

(11) and (111) only

5 s (i) 0Baw (jii) S

(1), (11). (111) and (1v)
4 s (D). (id). (i) odomi (iv)

Question Number : 59 Question Id : 8135611499 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The Yellow Colour of Urine of vertebrate 1s due to

DEFETL” JoIrdan DAY Gorbsd (o 60

Options :
Uric Acid

1 % cdor8s e300

Keratin
5 % STOD

Urochrome
5 o OB g0

Bilirubin

4 % 300060

Question Number : 60 Question Id : 8135611500 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Haversian system in bone doesn’t have which of the following characters

?J";f)go‘.b.% ;ﬁéargs: RotoHo) S0 LETLL” DO S DH?

Options :
Haversian canals are found in bone matnix of long bone. like humerus of mammals

_ S8 fo Zhern Do TEaed AN Srrdyses” HBOS SfeN otran

haversian canal. its lamellae and osteocytes form a haversian system

PS80 SO T8 Hedden Lndain uho}rhﬁh gom 800D D3R K)dbc.‘.}m
2. % al [ a ol @
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Volkman’s canal connect commmunicate haversian canals

L S 209 €renen 996 IPS00HD el Seud ad SotlPow
3 % & 3 2 3

Also called osteon and found only in vertebrates such as fishes and amphibians

B BT 0 SFE° 0. B B0, GFOVHTW S0 PEFATVS’ ArSR SNV
4, & z L i

Question Number : 61 Question Id : 8135611501 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Holandric genes are present on

Troregs 2pen $9HIG

Options:
Autosomes
088 §arE Qe

Y- Chromosomes
Y- §a5r& A0

N- Chromosomes

Autosomes and sex chromosomes
7688 J0doin Fohg §a0-E Jen

Question Number : 62 Question Id : 8135611502 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A woman with albinic father marries an albinic man. the proportion of her progeny 1s

D)5 dod, GIE), DITT w8 ©F)IE PARY) DT SR80 B VoTrRAY

Options :
2 normal : 1 albinic

2 Joeces : 1 LA

All normal
e90GET DG GEaSD

All albinic
 e9plddr e:.:@"ahé
3_ W

1 normal : 1 albinic

1 oG - 1 ©f\ I8
4.

Question Number : 63 Question Id : 8135611503 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Phylum cnidaria.is also known as

el “VEBAIT” A &1 DGO ST DLVIED

Options :
Flat Worms
BIDAY) e

1. %

Coelenterate
5 v DTot3Ber
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Porifera

3. ® ﬁ“&:ﬁﬂ"‘

Ctenophora

4« 830

Question Number : 64 Question Id : 8135611504 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A Flat area that runs through axis is

950 Aot) °AL 28 DA HBFo

Options:
Symmetry

f}"@ba

1. %

Plane

Cavity
Soreylel)

None
4 % AT

Question Number : 65 Question Id : 8135611505 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

In human females, meiosis-II is not completed until

DOS" SoE6R DBd-II DEIICL LPESE

Options :
Puberty
1 % C3F"DNo

Birth
2300

Uterine Implantation
ok Q@Q":}é

Fertilization

4 DobEdo

Question Number : 66 Question Id : 8135611506 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The hyoid bone is the only bone that

S o8BS D050 NG

Options :
Protects the elbow

| x QDO £

Is vestigial and serves no purpose in the body
2,8 9933 950DIA0. AIS D DS S

2. %
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Forms the tailbone

5 x OF DINSAO DBYWBIE

Does not articulate with any other bone
4 v B0 DAWLOSE SIIE

Question Number : 67 Question Id : 8135611507 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Statement 1- In vertebrates, the notochord is replaced by vertebral colunm but in
protochordates the notochord remains as 1t is.

Statement 2- All vertebrates are chordates but all chordates are not vertebrates

R 1: VSFATLO Do ) 0D (CRTA) 22)20 300 Aood) 20y Bocad S
" ?Qﬁ;) R0t D)RDeTDN ATy Dot

DIBHA 2: 1) ASIGSL 0y DD 50 9 5083y VEIWEL Y

Options :
Both statements 1 and 2 are correct and statement 2 is the correct explanation of statement 1.

| 230 1 S8k 2 B 9006, DHHEAD 2 DB 1 A% O LaND DD

Both statement 1 and 2 are correct but statement 2 is not the correct explanation of statement 1
5 % OUSAD 1 dB0in 2 26 oM, YOIV 2 BN 1 HD PO LN DI6E T

Statement 1 is correct and statement 2 is incorrect
eotdeany 1 200 220008, 201 2 29:000 0 90050 St

Both statements 1 and 2 are incorrect
T0CD 2edarPen D0 20100 57
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Question Number : 68 Question Id : 8135611508 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Hydrological cycle 1s controlled by

VTV 20 DVODoA VoDoBo3d

Options :
Forests

v (Zlate)(Sb}

Grass Land
. rﬁ%a;i:u;:me_u

Planktons

FoPuloal 3 b
H For)

Epiphytes
“ a)ﬂ?ﬂés;)

Question Number : 69 Question Id : 8135611509 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

One of the following statement is incorrect regarding the development of foetus by
the end of 12 weeks (first trimester)

12 57070 e9ochadn (A g;ﬁrﬁnéaﬁm) &5’ boc:ﬂi;);thg 800) S0 75 28 57
HITYY AoBotdod
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Options :
First movement of fetus and appearance of hairs observed

| Do G008 S5DE 2065 D Beudded 2Bk i 6 G SRR

Heart 1s formed in the embryo

, 206a06" 3EaHaD DEyEB08

Most of organ system 1s formed (limbs and external genitalia are well developed).

- edfod 300 ed0aen oydEraw (w0, EFL| 20RO RoRFEIT ©D3)A Bodaid)

Fetus develops limbs and digits

20¢e008" ToF0y e T8 DY, 2,8 Bodozrow
4. %

Question Number : 70 Question Id : 8135611510 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

There 1s no DNA in

808 T°2e5° DNA &5°He)db

Options:
A mature sperm

1 % HBRA BobDd FgSEI0

Mature RBC
DB DodD DO8S580
2.9 &

Hair root

3 % QoLSE DaTVo
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Kidney
4 % Sorddotic

Question Number : 71 Question Id : 8135611511 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the following

Term Meaning
a. Menarche 1. First menstrual cycle
b. Menupause 1. Last menstrual cycle
¢. Amenorthoea 111, Absence of menses
d. Dysmenorrhoea 1v. Painful menses

SoBeT A 2SDCN ol

o eado
o
a. B . 200G 200 BSAW
b. SOHDGA 11. €308 22180 TIgAWw
C.  220SOTTHSD i1, S00EA
d. oo 1V, EPEPSE000000 D08

Options :
1% (a—ii), (b—1i), (c—iii), (d —iv)

, o (@a—1), (b—iii), (c—ii), (d—iv)

3 » (@—1), (b—ib), (c—iii), (d—iv)
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4 (a—1i), (b—ii), (c—iv), (d—iii)

Question Number : 72 Question Id : 8135611512 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following is/are incorrect regarding differences between chordates and non-chordates?

Chordates Non-chordates
1. Notochord present 1. Notochord absent.
2. Central nervous system 1s ventral, 2. Central nervous system 1
hollow and single dorsal, solid and double
3. Pharynx perforated by @l slits 3. Gill slits are absent
4. Heart 15 dorsal 4. Heart 1s ventral (if present)
5. A post-anal part (ail) is absent 5. Post-anal tail 1s present

5065y 0B R S°GE adi Soreds” dobare w0 522D

5*-?_&53 5 S'QESD

1. Dyasdodan 4O Eotnod L Oyadodan 6 Do)

| S ]

2. wf ano orvane” 3og e Toc) Dy rodd

R Eotnod B0 T DY Eotwod
3. Dy WhS EHNY (2 ot 3. 200y wWhsen oy
4. ryabaw D0’ Gotnoed 4. €60 yeanaw (&of)
5. ¢ oo 5. &4 &otnod
Options :
only 5

1 % 3 TG
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. 1 Sobatw 4

2.3and 5
3 % 2.3 208010 5
2. 4and 5
2 5
4.4 4 S0

Question Number : 73 Question Id : 8135611513 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the wrongly matched gastro-intestinal tract hormone and its function.

& 20070 SYYT 28 BOND &I Hfotsod..

Options :
Gastrm — Stimulates production of HCl and pepsinogen from gastric gland

TS ~ 260 fotwinod 6565 BAW, DIED DL HBLRVG

Secretin — Stimulates secretion of water and bicarbonate 1ons from liver

, » VB85 — SToHB Wod AW, P56 BoiriIe DEEOR HEVRVS

Cholecystokinin — contraction of gall bladder for secretion of bile juice

§9263ID — Hz-3aird) DeEDoNBY PAY VANV DEG B

Gastric inhibitory peptide (GIP) — inhibits gastric juice secretion

260 PGS DRE — 266 FTIHTW DEGVA TGRS
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Question Number : 74 Question Id : 8135611514 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statement(s) regarding the immunity of body:

a) In cell mediated immune system the body fights agaimst the pathogens by producing antibodies

b) Short lived immunity found in infants through mother’s placenta and breast milk is called natural
passive immunity.

¢) Structure of antibody was given by Porter & Edelman

d) Surface of antigen contans antibody binding site called Epitope and antigen binding site on
antibody 1s called Paratope.

¢) IgA are common immunoglobin present in blood and pass through placenta

308a08° 3000 g BriATES 339 B O oD VHDD(en) & WBoced
2) S0 0300 BHNEEE SR’ Brsorep 0a dofen od o

b) 85y 50 FBIBEEBD Hira Ny FANTESE B otrd. ab Hrrane’ 8Y aTa)
2bain sdare e Seaed

¢) a3 o) T8 wbaw Aoy HaTEod

d) DABISAD P G0l PIGLP LGS Fomr) WETD 8 PATTAD P Gol PARVE Vb
Jomrd) JOES'D 0 Botrd

e) [2A QagSfdR0 0506° Gotrox B AT TP DAIFEFan

Options:
a. band ¢
1% @ b awboiw ¢

b.candd
2 o b. c a0baiw d

Only e
¢ oI
%

AP EAMCET 2020



AP EAMCET 2020
All statements are correct

4 % ) POIITR DBADID

Question Number : 75 Question Id : 8135611515 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match column-I with column - IT and select the correct option from the codes given below.

Column - I Column - II
a. An endothermic animal 1. Seaanemone
b. An ectothermic animal 1. Man
¢. Organism of benthic zone ui. Lizard
d. Periphyton 1v.  Water snail

SoBTH 28 DEOW, DBV BTeL SLOYAW.

e | e I
2. o303 BodPHL i ®edard
b, erdF i 2odo)en SR
c. 5§§ Hotv S L)
d. 2026 iv. o

Options:
(a—iv), (b—iii), (c—1), (d—ii)

5 % (a—ii), (b—1), (c—iii), (d—iv)

3 @ (a—ii), (b—iii), (c—1), (d—1v)
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4 % (a—i), (b—ii), (c—iii), (d —iv)

Question Number : 76 Question Id : 8135611516 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements regarding nbreeding are mcorrect?
1. The inbreeding strategies allow the desirable qualities of two different breeds to be combined.
i1. It increases homozygosity.
i, It also helps m elimination of less desirable genes.

iv. Continued inbreeding increases fertility and productivity.

08 PIBTOS’ odRAAN KBot) SV &) ) (Dlothos.
i, B0t DG FPAL DRVBE0NN VLTV Toktrds & D RSB0
il 98 ramcmmé@m Dotdddodd
fii. 0 &S0 50 BV SVANES ELAITHISE

IV. 903380 § AT Aotitan Jud B Seplal eVl Vila)

Options:
| x (i) & (iv)

, o () & (iv)

5w (i) & (iv)

4w () & (i)

Question Number : 77 Question Id : 8135611517 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Colummns of Bertini in human kidney refers to

SRS 0G0 Doty BB Woerew

Options :
The cortex extends in between the medullary pyramids as renal columns

G Byorrw 206 (v D)o 'oren 29)S); RWOETLTT €:0LI°0N
1.¢ = -

Division of medulla into a few conical masses projecting into the calyces (sing : calyx).
(53] 03¢ 305750 JTYFTVIT DFRowed. 8922 &5°8 TN Gotrow

cup-like structure in nephron
QTR Dok (v Sy ot Do) s

Cells in Juxta glomerular complex.
257 H2oderd R0} FRHAW ATT LD Dot (o) SETe

Question Number : 78 Question Id : 8135611518 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Deficiency of Vitamin C Leads to

DD “C” 5°Do DD DA

Options :
Carotenemia

1 % SO dDoosr
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Kwashiorkor

- 5“551050“665

Scurvy

5 ¢ B

Rickets

4 % E‘-‘Elﬁb

Question Number : 79 Question Id : 8135611519 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the incorrect statement about Limbic system:

1) Amygdala and hippocampus are deep structures in the mner part of the cerebral
hemispheres. These complex structures are called the limbic lobe or limbic system.

2) Limbie system along with the hypothalamus regulate sexual behavior.

3) It also regulates expression of emotional reaetions such as excitement, pleasure,
fear and motivation

4) It also controls all voluntary and motor functions

BoDE SO DowoBod BT DB I PHSTD) ool

1) e, ardfy5000 20F)d fivee h08) @080 rren. & erren Bocdd DD

§odE Hvaw doe Hods DR VLT
2) BoDE S50, @Sﬁ)ﬁgosmﬁ’ £BR Fohg OGN DoDGBR0A.

3) D05 5 wb‘é&ﬁ WO[R0NA &A1, DG, Hobe, EBRAD, DGV
DO{O Aobogaod

4) 905 R AoDOGS TV SV AaHoGE

Options :

1.8 1
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Question Number : 80 Question Id : 8135611520 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Mandibles are present in the mouth parts of

S8 ermre Hoddd e £HAD B

Options:
Bed bug
. o

House fly

2. % S

Cockroach

e3 Eos
;‘,/ (A

Locust
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Physics
Section Id : 81356130
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135611521 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An electron makes a transition from outer orbit (n = 4) to the mner orbit (n = 2) o f a
hydrogen atom. The wave number of the emitted radiation is

TES s w8 S eriry 84 (n = 4) Kool BodseL( (n = 2) S HBIGN
Bodod. BN &I°Y DS6m0 AE) Bdo Roay

Options :
2R
1. % 16

3R

4R
16

5R
16
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Question Number : 82 Question Id : 8135611522 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The electromagnetic radiations are in descending order of wavelengths in following sequence

& $o8 8" DAt 08 Jé6ETY 30oigy 030rn $8r) Miocsod.

Options :
Infrared waves. radio waves. x-rays. visible light rays

| % DO SorTew, 8A a3 eCorren, r-SoeD, ﬁéf‘)&tﬁd Seof) SOrTeD

Radio waves. infrared waves. visible light rays. x-rays

v BEa3r SGorren, HUECE SdorTen, cﬁq;,fjﬁfz:’:d S0 Soren, v-SorTen

Radio waves. visible light rays. infrared waves. x-rays

,, OG.CIr Sdorrew, c:ﬁﬁz:ﬁci S0 SEETeD, HoPCR Bderre), Y-SOETTeD

x-rays. visible light rays, infrared waves. radio waves

4 % v-S0ET°e, ﬂﬁéﬁtﬁd S0 SO, HOM Sdormen, A3 Sdoren

Question Number : 83 Question Id : 8135611523 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Under elastic limit. the stress 1s

f‘g@gﬂas 9:5865°, DARILAD

Options :
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Inversely proportional to strain

|k D50 DS AFRIB20S” €0t

Directly proportional to strain

, o D598 ORS IFRI VIS o

Square root of strain

DS DGO
3. ® » s

Independent of strain

4w DGO SEOOE®

Question Number : 84 Question Id : 8135611524 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The internal energy of a gram-molecule of an 1deal gas depends on

25 [Ta00-89E0Y) vz'.*src.’:ciq?J IOV ABVS), eﬂo@geﬁ 3S BSTFEDHE Moo

Options :
Pressure alone
| % Do ArG

Volume alone
2WRADBATRe DS

Temperature alone

e SordhaD
3./ 6
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Both on pressure as well as on temperatre

gjdéa, &aled Goc.otd2d
4, % &

Question Number : 85 Question Id : 8135611525 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A graph of pressure (P) agamst volume (V) of an 1deal gas undergoing an isothermal process is

28 BG6) TP BEVEAR) P elder Hiabh aws) 2CTAS(P) 0Bk
2 e 5
20088 (V) ADD o

Options :
a straight line passing through the origin

x DR TrTr A DETOD

a parabola

5 % 28 DT DLAAW

a rectangular hyperbola

3 v VS BEBACTTC VADT-DVODBW

a straight line parallel to pressure axis

4 % DED I8 DATABANT Eoll 28 VOFD

Question Number : 86 Question Id : 8135611526 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The velocity of a body moving with uniform acceleration at a given instant of time “t " 1s
10 m.s~*. Five seconds later its velocity is 20 m. s %, The distance travelled in that time is

P20(BEANE HOIFERD) SR D B SO “£75G 10m. 571 2 2L
ST & 330 20 m. s &8 TN’ 06 DSl ErEAY Nod?

Options :
1. ¢ 75m

5 % 150 m

3 % 300m

4 % 200m

Question Number : 87 Question Id : 8135611527 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a light of wavelength 300 ninfalls on a photoelectric emitter. photoelectrons are
liberated. For another emitter. a light of wavelength 600 nm 1s sufficient for creating
photoemission. What s the ratio of the work functions of the two emitters?

300 mm $6oipGio (R S70d 2.8 TE' S &rrdIp DSHWIPD, T oz
DD, B 6o 600 nm Sori@o (o S0d T QTR &Erdo Bohow)

20T B0, 0D Tod e;rﬁ.:)vﬁ 2DAN0D 5}%@ Joh?

Options:
1% 12
2. v &%

AP EAMCET 2020



AP EAMCET 2020

3. %

4331:4

Question Number : 88 Question Id : 8135611528 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The velocity of light in a medium 1s half its velocity m air. If ray of light emerges from sucha
medium info air. the angle of incidence. at which 1t will be totally internally reflected. 1s

28 QITREANS" S08 DM TP Dricoss” k. & 46830 APIEAN oD D &°28
SN0 D DESERA 3¢ VOTToBY DOIYGHAN Botho?

Options :
15"

> 30°

45°

60°

Question Number : 89 Question Id : 8135611529 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the radius of an atom is 1 A, the total volume of a mole of these atoms will be
28 DOATEDY) aﬂlghvg:m 1 A eoawd, 28 e85 HEAFESY 0B ANBATEAD dodh?
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Options :
106 113
1 ¢ 25 x107°m

. 25X 10718 32

2.5 x 1078 m?

Gumog g
. 25 % 10 *m

Question Number : 90 Question Id : 8135611530 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two Carnot’s engines 4 and B have the same efficiency. A receives heat from a source at
800 K and rejects to a sink at ‘x” kelvin. B receives heat rejected by A and rejects to another
sink at 300 K. The temperature “x” is nearly

Boch 5°07) &5 Goasdoen A 208050 B/ GEden 2drddw. 800 K 3¢ egsuacm:m A0é A
53"3.1 feror) X §8)55 AT 83%) Fer30irdd o). 4 6 Ddeds 55"% B

£a ] (A ] £
darod 300 K 56 o oBeIs SrH0IrAS Do), x egg“@a TET doth?

Options :
1 % 200 K
2 480 K

3 % 350K

4 515K
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Question Number : 91 Question Id : 8135611531 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Frictional force increases when surfaces in contact are made very smooth. Ths is because

2008 Seruky e AR Babod) SR WG w0 DEMAR. JodSAT

Options :
of molecular forces

1 o POQTED VTV DV

of decrease in surface area
D080 DT V0 SL DV

of decrease in irregularities
gmnvirejéo S SOD

Increases in area

DTV DAV SoDd
4. %

Question Number : 92 Question Id : 8135611532 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements is correct?
1) Kinetic energy of a system can be changed without changing its momentum
2) Kinetic energy of a system cannot be changed without changing its momentum

3) Momentum of a system cannot be changed without changing its kinetic energy

)

4) Body cannot have energy without having momentum

& $08 DIVT S A DBTHG?
1) 9:15;3(1:1}3956 APy TSk 25 bﬁ;ﬁ‘g G308 (ASRIS STt
2) gasédaneﬁﬁ Aty TSt w8 .ﬁsﬁ*{g aws), (323 D6
3) d238S” 208y TRt ;b?g.b‘rg aI0S); B9[S0 Srddd
1) 3333 SLOET 28 SWPD 9§ Gtk

Options :

1o |

b-J

L]

3. %

4. %

Question Number : 93 Question Id : 8135611533 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the dimensional formula of universal gravitational constant(G)?

D3] OS] 0578 D3 é"d)éﬂ“ e ?
@

Options:
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Question Number : 94 Question Id : 8135611534 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Kinetic energy of a body increases times when its momentum 1s increased ‘n’ times.

28 S0 BT 1’ 04 Do, T (15 38 360 DA,

Options :

1% N

2n
3 % \n

4\_‘/11

Question Number : 95 Question Id : 8135611535 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The momentum of a particle is P = 27 cost + 2 sint. What is the angle between the force

F acting on the particle and the momentum P ?

28 S0 @3 D0 P = 21 cost + 2] sint eawd, e Sadw p D wwo F 200k
53] SMiedoo P © 00 Sraidw $x087 o6

Options :
1 % 45°

90°
5 » 135°

4 % 180°

Question Number : 96 Question Id : 8135611536 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A hydraulic Lift can lift a maxmum loadof 3000 kg. wt. The area of cross section of the piston
carrying the load is 4.25 x 1072 m? . The maximum pressure the smaller piston would have to
bear is

w8 08 B 8 183 erdn 3000 kg.wt. & o) A5 ARWED DED\S
27w 425 X 1072 m? wand, D) wgn Z0otie (83 EA Adotoed.

Options :
1 ¢ 692X 10°N.m™2

> % 13.76 X 102 N.m™?

3 % 9.63 x 10° N.m™2
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4 % 782X 10*N.m™2

Question Number : 97 Question Id : 8135611537 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The frequency of tuning fork is 500 Hz and the velocity of sound in air is 300 m.s™*. The
distance travelled by sound while the fork executes 100 oscillations per second 1s

303cS0ciaw i 500 Hz SBakw mOE” xdDAw 300 m. 5™ #Bcecidw w8
506" 100 Eorren BomDE G HafrEot AP

Options :
45 m

1. =
> 60 m

3 % 30 m

50 m

Question Number : 98 Question Id : 8135611538 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The slope of curve obtained by plotting log, (4) versus time(t). [Hear 4 1s the activity of
the sample] represents

S (t) D63 log, (4) Qensds ) ﬁf‘oa‘)Q}chs DBy DL T N
ADALERV0B. (s 4 DPaP WY znd5%u@}
Options :

Half life
esrg B odh STOAD

Mean life

5w PO RIS STVAD

Decay constant
VLD f’gﬂ‘oém

Initial number of atoms
e300 DT DNV *r’bc335

Question Number : 99 Question Id : 8135611539 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A magnet of magnetic moment M 1s situated with 1ts axis along the direction of a magnetic
field of strength B. The work done in rotating it by an angle of 180° will be

OO 08 LTSN M (10 28 oD 0S80 T L0 BODIF) 08 £8 8¢ B &3
Dok)G GoG&kD f..%a‘)lé. A 180° S0 @bf:"ﬁﬁ Jodd D BODHST?

Options :
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, % +MB

4 v +2MB

Question Number : 100 Question Id : 8135611540 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A uniform rope of length 12 m and mass 6 kg hangs vertically from a rigid support. A block of mass
2 kg 1s attached to the free end of the rope. A transverse pulse of wavelength 0,06 1s produced at the

lower end of the rope. Wavelength of the pulse when it reaches the top of the'rope 1s

GHERR eEroa) Aol 12 m T do 6 kg Gagoed (e w8 D568 B IALVPT HUrdeod.

(LAY f‘jﬁ‘:’a § 3¢ 2 kg 35073 o Banyan ShHord. g $od 89 o¢ 0.06 m @Ooﬁ@%ﬁnﬁo

&0{5 600l ) SLIET0. 8 80 T P §B0IYW, o) @doﬁ@gﬁl&m BE0W)aLD.

Options:
1 = 0.02m

5 o 012 m

0.01m

4 % 0.03 m

Question Number : 101 Question Id : 8135611541 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

With resistance P and Q 1n the left and the right gap respectively of a meter bridge. the null point
divides the wire in the ratio 3 : 4. When P and Q are increased by 20 Q each. the null point divides
the wire in the ratio 5 : 6. Then the values of P, Q respectivelyare .

28 D)6 DE gy e, 6 PrP0s” S0 P 280w Q ATTok) Sedd ES
Dotioid) S50 3 1 4 Dy 36" Desousory. iy P 080k Q Ay 26480 20 Q e

o0, 3y Dot AR 5 6 3513@?56 Do, 00D, HEWM P, ) denden dod?

Options :
1.+ 302,400

5> % 200,40 Q

;% 300,800

4% 200,200

Question Number : 102 Question Id : 8135611542 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When distance betweenl two-point charges is icreased by 10%. the force of interaction

Boct) Do) DTV ,:UQS cﬁm“bl 10% 2ov)d, T8 :JJQS D0Ry0 LI

Options :
increases by 10%
1 % 10% xR

decreases by 10%

5 % 10% 86
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decreases by 17%

3 ¢ 17% @Q}m

decreases by 21%
21% o
%% n

Question Number : 103 Question Id : 8135611543 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Heat 15 passed through two cylindrical rods of same material. Their diameters and lengths are
i the ratio 1+ 2 and 2 ¢ 1 respectively. If their ends are mantained at same temperature
difference. the ratio of rate of flow of heat through them 1s

28 :Jm“gmg Saird) Sabads Got 2rIrse seol’ & wBD 265 wod. T8 T
2080300 JEHv ﬂﬁb@w SQAM 112 LBk 2 ¢ 1. ) DG 2.8 C‘—agﬁ@ Al Sﬁc@:’:
&ord, T8 el EQVTT O AS [

Options:

1:1

Question Number : 104 Question Id : 8135611544 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Two concentric coplanar circular loops of radii ry and r, carry currents i; and i, respectively. m
opposite directions (iy clockwise and i, anticlockwise.) The magnetic induction at the centre of the

loops 1s half of that due to i; alone at the centre, If r, = 21;. the value of i, /i; =

Botty D Sofiad 00dad JTs6 ) 5“5«5“8"9.1} 1y, 1. QB dddrr iy , i, S 0
S(BBp03E" YT ow [i) IO, §; BRBIS’]. Sogi 3¢ T8 HIS a0
208550, 6 Sogio 36 iy (Ar8) dIvg) eab¥ o8 HESEDS A, B8 1, = 21y
oond, i, /i; =

Options:

1.332
2'33 U.J

3 ® 0.25

4,9 1

Question Number : 105 Question Id : 8135611545 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The radii of two spherical conductors A and B are in the ratio 3 : 5. Conductor ‘A’ is in air

while B 1s surrounded by a medium of relative pernuttivity 6. The ratio of the capacitances of
Aand B 1s

0ot Avrseg Trarsen 4 080k B J’?@“g"v A8 3: 5 Tirsin A S, Tirsaw B
D FHEHIHIVS 6 o AfrdLos’D &) ow. A 2Bk B v st Mg

Options:
1.« 1:10
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5 % 3:5
, % 18:5
4. % AEE

Question Number : 106 Question Id : 8135611546 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In an LCR circuit. inductive reactance and capacitive reactance was fourid fo-be equal. The
resistance was found to be 20 Q. The probable impedance of the combination is

28 LCR doobods” 2ogd 2880, £:08( 86T 2rdo. ¢ 20 Q. ey,
Wodird Seado Q]JJSZ} 950 G0 doeh?

Options:
Zero

) waéa
1. %

5 @ 20Q
. 40120

. 4000

Question Number : 107 Question Id : 8135611547 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A copper rod of length 2.5 m and an iron rod of length 1.5 m having the same areas of cross
section are connected in series. Thermal conductivities of copper and iron are respectively
400 and 80 SI units. The equivalent conductivity of the composite bar in SI unit is

2.5m T&) fde oh Séé L5m e, 0od DB 63T o 20086 ¢
gdamrd. ovh, QLAY EQTISTR0 S0 400 D80k 80 ST DArEFe. Hoains Sé
dovf &AT e S Darmred’

Options :

1. % 200

, o 160

L % 240

4 % 120

Question Number : 108 Question Id : 8135611548 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A ball 1s thrown vertically upwards. Which of the following graph represent v — t graph of the
ball during its flight? (air resistance 1s neglected)

2% £09 ) VT i8S BT, S8 TE" wod ATV v — L TD VB!
(mm® B9 0B S S eacdd )

Options :

1. %
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2. %
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4.

Question Number : 109 Question Id : 8135611549 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

When a simple pendulum 1s taken from equator to poles. its period

08 e.:afme‘i"um‘% PGB Aol Gy S é?a@@oéigjm, ANEERLEEIRW

Options:
increases
1% Faleblablablaln)

decreases
SHB008

remains same
QT"C0Y €0Ccd

becomes zero
wa‘:éc 29 NB0d

Question Number : 110 Question Id : 8135611550 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Heating of water at atmospheric pressure is an

TG HEDIAD D HD DAB0L 9D

Options:
1sothermal process
RIS ol-Toub)

isobaric process
DIVDED DHaD
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adiabatic process
. ?;';S s DSoD

1sochoric process

4% RDVDDHBATe HIAD

Question Number : 111 Question Id : 8135611551 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A copper rod is moved in a magnetic field. The charge developed across its endswill be

proportional to

28 T S6.D 2,€ 008 £8308" S880DERAA. T oL B &d\D) oo
ERERW £ 908" A0 BE0S” Gobnod.

Options :

Magnetic flux

. ©90DT), 08 BDITTFSIW

Rate of change of magnetic flux

@0‘.&35‘“50@ DTITSI SH07C0y Tew
2. ¥

(velocity of the rod)?
L . (88 S6a0)7

(magnitude of the magnetic field)™?

4w (00303 0¢d Ed0 DOBBeazd) ™
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Question Number : 112 Question Id : 8135611552 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Three voltmeters all having different resistances are joined as shown. When some potential
difference is applied across P and @, their readings are V;, V, and V; respectively. Then

D) WTFe L Jred Seg DR HOANS" BPHD BT VDA, P
20808 @ © 206§ §od TS Heso Seors 5, T8 Fvden WA V;, 1, 20050
Vs w0 09008, $o8¢° 8 RS?

P o—f e

Options :
e 1=V
7
o Vi =V,

3 ¢ V1+V2:V3

Vi + V5 0N

Question Number : 113 Question Id : 8135611553 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The fringe width in the interference pattern obtained on a screen kept at a distance of 1.2 m
from the slits in a double slit experiment when light of wavelength 560 nm 1s used is 0.48 mm.
Then find the separation between the slits.

afof 2ot DD HAAANS’ TED T0d S0ori36:300 560 1m. 6 090 B0od 1.2 m
P66 &R D6\EY 3950m SFErave’ Ho deeny 048 mn wond, VB
qu 908000

Options:

1 % L2mm

5> % 0.8 mm

3 ¢ 1.4 mm

4 % 2mm

Question Number : 114 Question Id : 8135611554 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two fixed point charges 4-4q and +q units are separated by a distance of a. The distance,

where the resultant electric field mtensity is zero. measured from charge +4q 1s

+4q 08050 +q 0L (L Totd igd Dotha) BTV a Grdess” AT Gordd. +4q
e59%0 AVoC. dodd BPdaD Sl 00 3633595 Zdo DI Ao BYBA?

Options:
2a
1.4 3

[l
2. % 2
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Question Number : 115 Question Id : 8135611555 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a position dependent force F = 7—2x + 3x2 N acts on a small body of mass 2 kg and
displaces it from x = 0 to x = 5 m. calculate the work done. (in joules)

2 kg @T°3 o 8 W) SPp F=T7-2x+ 3x2 N e Qe wdn DB, x =0
Dot x=mD g"a‘:ggo’éo Bod. 8 DE0DS’ dod D B6MS (FTwd’)?

Options :
1.% 70

2 = 270

Question Number : 116 Question Id : 8135611556 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A rod of length 1 m is kept inclined at an angle of 60° with the uniform magnetic field of 0.5 T.
If the rod 1s moved with a velocity 10 m.s™* perpendicular to the field, the induced emf is

05T 568 a0 EdodS” 60°0 Erao BahodkoT Treore 1m Tea)dy w8 Séb
Gotrd). & Scé 10 m.s7! koS ZerS vowor $8DD, Do DEE VS 0o Jod?

L J

60°

|

60°

W
L 4

Y

L

Options :
1. % 10V

, % 7.5V
3 v 433V

4 x 255V

Question Number : 117 Question Id : 8135611557 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the current gain of a common base circuit 1s 0.97. find the current gain of common
emitter circuit.

&) G &G0 HODIS” RIS 0.97 wand. &) & Seadane’
Qa“&b"bag riedotinad.
Options :
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| v 323

. 133
100

64.3

Question Number : 118 Question Id : 8135611558 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The average energy per mole of an ideal gas of number of degrees of freedom equal to n at
temperature T is

R(Bod HBabdoen Fooa;‘g n oo 28 vcﬁcﬁ; 00 GIS) WS o8 T egﬁ(j@ ;ﬁg [SIp[AV
33 Q Artotd) APGAW

Options :
RT
1 % 2n

nRT

ZRT

n

nRT
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Question Number : 119 Question Id : 8135611559 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Four capacitors of 25 uF each are connected as shown in the figure below. If the D.C.
voltmeter read 200 V. charge on each plate of the capacitor 1s

25 i 303y o Tuh Saroudi $903 Huairdy Do’ trdeded. D.C. 59
&6 200 V Boodd RAPRVA) B8 A 800 2 dod B30 Gotwod?

200V
©
25 uF 25 uF
I I
1l I
1 I
| o | p

Options:
|« 2%X107°C

, @5 x1073C

2 u 2L

4 % 5X1072C

Question Number : 120 Question Id : 8135611560 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the tume period of the body (mass m). shown in the figure,
when displaced slightly mn the vertical direction.

o EGIB T Fosiw SLUBII)E, KBNS Brd

m @(0°3 (0 SR AE); BIGH SBW Bdoc..

Options :
1T
2w =
1% 2k
Im
2N =
2. % K
am
2 =
2
3.«
am
ﬂ' —
k
4, ®
SectionId :

Section Number:

Mandatory or Optional :

Number of Questions :

Section Marks :

Chemistry

81356131
4
Mandatory
40

40
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Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 8135611561 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the molarity of HCI liquid. given its density 1s 1.17 gm/cc

1.17 gm/cc 0@ 6w HCl $d0 aIng), 200er08 (edotdol.
Options:
| % 42.10M

, » 32.05M

5 % 3650 M

4 % 32.60M

Question Number.: 122 Question Id : 8135611562 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Nuclear charge increases with increase in

DBAB Sods BDT0 DALBICE

Options:
Iomization enthalpy
. O3V RENR (903 VE6E) ‘J)oqs"@:j
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Atomic number

FeTe byt ;i:uo&,:jg

Atomic size
FoTo Tt - b l-6Te Fuh 1)

Atomic radii
DEITED T TS.EFgo

Question Number : 123 Question Id : 8135611563 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many of the following species have formal oxidation state of N or Pas* +5°

N,0s, NO3, NO3, [PO,]*", P05, P,0so, H3PO;

S0d 95" N J P £ +5 Jordes e.eé;}Sdea f'ge."é (o &rdoen A ?
N,0s, NO3, NO;, [PO,]3", P,0s, PyOyp, HsPOs

Options :

1.“*’32

Question Number : 124 Question Id : 8135611564 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For a reaction A — products. the value of equilibrium constant ‘K", when the reaction
reaches completion. would be close to which among the following?

A — &3\ e, 8 w8 BO| TErY Y VBN 88, &) ﬁé}@“%@ ?{go"osm)
‘K’ Dend 087706 B3 GG Gotddd?

Options :

Question Number : 125 Question Id : 8135611565 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The products P and Q of the following reactions. respectively are:

Sof BE[L &ST) e P odoin QT en D8R

OH CHs
| Cu | Cu
CH3CH2CHCH3 —> P e —C—LtHy ——% Q)
573 K | 573K
CHs;
Options :
1.4
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P: Q: (|~1H3
CH3;CH>COCH;3 H3C —C=CH>
P Q {"TTHj
CH3CH2COCHs:3 H5C — l'|f— CHO
2. % o
P Q ':|:H3
CH;CH-COOH HiC— C=—CH>
3. ®
P: Q: (|:|7H2
CH3CH>CH2CHO H;C — C—-€H0O
4. ®

Question Number : 126 Question Id : 8135611566 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Orlon 1s a polvmer of which monomer?

D 2rJ206 Ag), F26 D wTD Wotrdo?

Options:
Styrene

Vinyl chloride

DS EBE
2. % &= &<
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Acrylonitrile

DEe5 DeTed
I

Butadiene and adipic acid

4 aa:.-ée:“c:‘.m.i S0Ba3L 9CHS €530

Question Number : 127 Question Id : 8135611567 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

At constant pressure and temperature, the rates of diffusion of N, 0 and €0, gases are
related as which among the following?

ﬁ(gd ag’gw DETO 3@ N0, 308080 €0, Toi0PHY TR oD Axdow) SoBT S
28 duaw?

Options :
They have same rates of diffusion

v £98) DITD TGO Senen £0A sochHad

C0, diffuses faster than NO,
. NO, 85°) €Oz SAB0MT S°{20t0/0

N0, diffuses faster than CO,

CO, 8y NO, Seidoorr aﬂéi:omm
3. %

Cannot be predicted

~DTBotIT S
4, % @
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Question Number : 128 Question Id : 8135611568 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following situations occur when ferric chloride is added to excess hot water?

285 §0& % 008 52 A" s8R Sod BBV’ DA BLHOE?

Options :
A negatively charged sol 1s formed

2VETDFoS EFED S AL A

1. %

A positively charged sol of hydrated ferric oxide 1s formed

ST DB O &g DBS 55 \E TS DO
2. % )

There 1s no charge on the colloidal particles

_ Serand SeTo B8d%o0 ok

Adsorption of OH ™ from water occurs

n D) ol OH™ a3md e&FT N0 200

Question Number: 129 Question Id : 8135611569 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the 1deal gas equation. PV = nRT. the value of the universal gas constant would depend
only on

PV =nRT Hcédg 030 2 86eAS” .3"(2&5@5 080 %}U"oéaﬁ.‘u 220 SH0dw

» B30 DEIR.

Options :

1. %
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The nature of the gas
SJ°0500 ﬁsa}“bmj

The pressure of the gas
5 % STOS0 DEDIW

The units of the measurement
Soden alng) DT

None of these answers are correct
D 2378 VBADIA 57

Question Number : 130 Question Id : 8135611570 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the work function for Caesium (Cs) atoms 1.9 eV'. then find the approximate value of its
threshold wavelength

heat0(Cs) HEATEND HA Bvate 1.9 e wand, o) Sori@g 0 P00z Ded

fe3otdot.

Options:

1% 723 nm

5 x 480 nm

3 @ 654 nm

4 % 025 nm

AP EAMCET 2020



AP EAMCET 2020

Question Number : 131 Question Id : 8135611571 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following represents the structure of the principal product in the given reaction?

& B0 BHEES tﬁd&ﬁ‘ L')d;)da DI 68y) ) dwE), Aoy 0 dod T95° DB ?

Me

CH3

| Anhyd. AICl;
+ H;C—C—CHBr
| a ) AlChk
T 9

'
~

Options :

Me
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C(CH:)s
4.v

Question Number : 132 Question Id : 8135611572 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the equilibrium constant for the formation of NO, from NO and 0, at 298 K as per
the reaction given below. Given E‘.fG“{:NOz:} =52 kJ.mol™, ﬂfGG(NO) =87kJ. mol ™%,
ArG°(0,) = 0 kl.mol™ (Antilog of 0.122 =1.3210)

298 K 56 NO, 0, $8% NO, SairB8 Hoeaooddd 1618 2588 Drodo fidocsod.
Gerosdn A, GO (NO,) = 52 kl.mol ™%, A,G°(NO) = 87 kl.mol ™! &odasw 4,6°(0,) =
0 kJ.mol L. (ciorotdes®A (0.122)= 1.3210)

1
NO (g %7 02(g) = N0z g)

Options :
e 1 b
1 ¢ 132 5¢ 10

, » 132x10°

L % 132x 10

4 % 132x10°
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Question Number : 133 Question Id : 8135611573 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When 50 ml 0.1 M HCl is added to 50 ml of 0.01 M KOH. the pH of the resulting
solution will be

50 ml 0 0.01 M KOH £ 50 mlo 0.1 M HCI sendme SJCSDC.‘,J 098 e pH =
Options :

1. % 7

5.35

135

Question Number : 134 Question Id : 8135611574 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

M gS0, is soluble i water because

MgS0, D&eS* . HDS 560

Options:
Hydration energy is higher than lattice energy

v ZOS 35 577 TEAS 3S DD

Lattice energy 1s higher than hydration energy

- TEAD IS ST°) VS 3§ KD
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Lattice energy is equal to hydration energy

oS 3S A 358 DIATrDo

M g?* and 507~ Ions have comparable size

Mg®" 20800 S0;~ erairanen o eho D850 &) aw

Question Number : 135 Question Id : 8135611575 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

What is the hybridization of carbon in graphite?

T8 &° E‘tﬁaﬁ 030S), RWosSdsteso D& ?

Options :

1. % P

3
2. % P

2
3.¢ °P

4 % dsp?

Question Number : 136 Question Id : 8135611576 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

How many geometrical isomers can be written to [Co(NO,); (NH3)3]?

[Co(NO2)s (NH3)3] 0 A) £8 Fres)7ojen Je§dm?

Options :

1.v 2

Question Number : 137 Question Id : 8135611577 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following monomeric units undergoes anionic polymerization in the
presence of RLi?

$of T RLIi De0ga08” esd03ra8 FO08806008" 5‘%3”?-5 ArS206 chrde 26?

Options :
CH, = CHCH;

1. %

2 CHE — CHCGHE

, » CHy=CH—0~CH,~ CH;

4 % CHE — CHC&H]_I
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Question Number : 138 Question Id : 8135611578 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is true about empirical formula and molecular formula?
A. Both are same
B. Empirical formula tells about percentage of various elements in a compound
C. Molar mass can be determined from empirical formula

D. We can’t determine molar mass using molecular formula

9 DE b“doéer S8asn wm&daéaméa 2otodot) $08 T35’ AB duAw?

A, Got 286
B. mmgm;aw“ &R DY) Arvsw TE) VTS nﬁ“m&w eV
C. edoerds &d)éer Hol Arerd Rl :}g“ﬁor:ﬁ;ﬁ::bl)

D. wm&da&u* Aol 2576 G30°3 ATBotsTan

Options :
A

1. %

Question Number : 139 Question Id : 8135611579 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The shape of XeF, molecule is based on the fact that it has

XeF, o9t e58,8 &S 2 T8 D Godd

Options :
4 bond pairs

| % 4 eyodd 2oblen

4 bond pairs and 1 lone pair

5> % 4 pioch 2otde 1 2wotdd 2208

4 bond pairs and 2 lone pairs

3w & 806 2000 2 2,000 200D

4 bond pairs and 4 lone pairs

4% 4 ot 200 4 2,000 2obleD

Question Number : 140 Question Id : 8135611580 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the product of the following reaction.
0B 1:56565 &840 0 D ?

OH

)\ + DO —?
N

Options :
O

P

H3C CDs
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2. %
/i
3.v
OH
DH2C CHD
4. %

Question Number : 141 Question Id : 8135611581 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a reaction not involving any gases. the rate of reaction does not depend upon

TOR0YRD XD B[R awE) T O08 2 &ErS HEE

Options:
Pressure

- HEDID

TElllp gramre

&g
2_ W ]

Concentration

3$3n“c;ie‘_’9
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Catalyst

&30S
4. % ~—

Question Number : 142 Question Id : 8135611582 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Predict the correct order of metallic character among the following

$0BTIS” &I DETHDo AINE), PBADD $AT°) BwDoC..

Options :
1. % Cu > Ag > Au > Rg

> ¢ Rg > Au>Ag > Cu
3 % Au>Ag > Cu > Rg

4 % BRg > Cu>Au > Ag

Question Number : 143 Question Id : 8135611583 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the solubility of a M, S salt is 3.6 x 107>, find its solubility product.

M,S ©de0 o), TOeRd 3.6 X 107° 0ad od Takabe vgo Jod ?

Options :
B B v
1. #®
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1.86 x 10717

1.86:% 1013
3. %

: —13
4 % L7210

Question Number : 144 Question Id : 8135611584 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option: No Option

Orientation : Vertical

Under which of the following conditions. a gas deviates most from ideal behaviour?

$o6 2 :Ja?gmmﬁﬁ 8 oSN BEG) DHGH Aol JEN T DIV WrYBeB?

Options :
Low pressure. Low temperature

0y e, €90y Egsgje‘_’s

High pressure. High temperature

008 DEID, &S &X' (S

Low temperature. high pressure

00y &GS , 0B DEDAW
High temperature. low pressure

088 ad'is, woy DEDAD

Question Number : 145 Question Id : 8135611585 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

0.35 g of an organic compound in Duma’s estimation for nitrogen gave 55 m! of nitrogen
at 300 K and 715 mm pressure. If aqueous tension at 300 K 1s 1 5mm of Hg pressure, the

percentage of nitrogen in the compound is

D vou E68 T @D IS’ 0.35 g o w8 Sy 1) ¥dw 300 K,
715 mm oo 3¢ 55 ml pEad s B308. 300 K 3¢ A6 aweriynédo
15 mm Hg eond, & dﬂ:ﬁ)é#:%oéé TR DoV THo

Options :
1 % 15.50

, % 18.60
3 v 16.46

4 x 1723

Question Number : 146 Question Id : 8135611586 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the pH of a monobasic acid 1s 2.0 at 25 °C. the osmotic pressure of its 0.1 M solution

will nearly be equal to

25°C o) DTG 05 aws), pH =2.0 wowd 0.1 M gradnamn aws), G0

20 oY)

Options :

1 % 3.5 atm
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> % 4.7 atm

3 @ 2.6 atm

4 % 1.8 atm

Question Number : 147 Question Id : 8135611587 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arrange the following 1somers of C4H,, . in increasing order of their boiling points.
I) 2.3-dimethyl butane
IT) 3-methyl pentane

I1I) n-hexane

S0 FET(R T wray B FTO BT SIS G oL
I) 2,3-C DPe (B |
1) 3- FES Dot3D
) n-278yS

Options :

Lo < I <10

, o TERGE )

, u g M

o ELT < W
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Question Number : 148 Question Id : 8135611588 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An example for homogenous system 1s

225305 (ﬁ“ﬁg;ﬁ} bﬁ;ﬁ‘ge‘o 28 ETIO0

Options :
Cod liver o1l

| » TEG 956 esoneS

Vanishing cream

T D06 &0

Sugar solution

©S),0 Traese

Muddy water
EVBES D

Question Number : 149 Question Id : 8135611589 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many moles of I, are liberated when 1 mole of K,Cr, 05 reacts with KT i an acidic medium?

28 35S K,Cry0; 620 airisnd” K1 & o6] Tobd d) aresw I, e eriiy?

Options :
1
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Question Number : 150 Question Id : 8135611590 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Assertion: The majority of noble gas compounds are those of xenon (Xe)

Reason: Xenon has lowest ionization enthalpy and can be easily oxidized by oxidizing

agents like oxygen and fluorine

&y E0e: O3[BS &I ToI m;ﬁzéﬁmw gm‘é (Xe) Bodda.

5°0820: AT £ 8 B85 VANIFAD aoqrbb &0l S0dotw Uébeeé, 8D Dot
e58,86:008 T 63$880tswER08.
Options :

Assertion and reason are correct. and reason is the correct explanation of assertion.

v $yDE68, TG0 VOADHD 2B S6R0 GSEER VBT DdBodod

Assertion and reason are correct. and reason 1s not the correct explanation of assertion

, 1 BP0, S6r0 POELID 2Bk S6R0 B)ILBEHR VBT VoI

Assertion 1s correct. reason is Wrong

- ByDECE DBADIA, S°CE0 By

4. %
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Assertion is Wrong. reason is correct

ByDSCE B2y, S°GE0 DB

Question Number : 151 Question Id : 8135611591 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Formic acid and acetic acid can be distinguished by which of the following?

$0AeS” BAY &NHarhHod) 3“6)5 e300 B0 DS ey DO DBotdd?

Options:
lodine and alkali

e DMVES HodaiD o

Tollens reagent

&369353 s*dSo
o

NaHC 04 solution
. NaHCO; greeso

Can’t differentiate using any known reagent

, DOLETT. Boride) eF G5

Question Number : 152 Question Id : 8135611592 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following order of energies of molecular orbitals 1s correct for N,?

S0 e BBNEPY) 3§ SAVVS” N, L DB VARG A7
AP EAMCET 2020
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Options :
o, (@2p)) < (92p;) < (X°2p,) ~ (w2py)

5 % (Hzpy) > (02p;) > (n72py) ® (:H*Zp};)

- (m2py) < (02p;) > (m'2p,) = (W 2py)

®

4 % (HZP},) > (02pz) < (M'2py) ~ (m 21’-}_}?)

Question Number : 153 Question Id : 8135611593 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many unit cells of KBr are present in 1 mm?® of grains of KBr. KBr grows in a NaCl
type crystal and has density of 3 g/cm®. Molecular weight of KBr = 119 g/mol

1mn® SewHen o KBr & Ay KBr aardeS 6 wv &3)? KBr., NaCl #8850 30
MR 208050 TR Fogied 3 g/em’. KBr wenegrsaw 119 g/mol.

Options:
1018
1 & 3.8 X 10

1n12
, % 26%10

1020
3 % 45 x 10

4 % 2.0 x 102
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Question Number : 154 Question Id : 8135611594 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct decreasing order of stabilities of +3 oxidation state of group-13 elements is

+3 e_aé:]sm NAGRD) ArD-13 MFUSY 6L DB BT S0 DUVG.
Options :
BF APt Ga® =t TR

1.4

, x AP > Ga® e T BT

3 % TI13* > It > Ga®t > Al?T > B3t

4% AP s PR Ga% s Inth s TPt

Question Number : 155 QuestionId : 8135611595 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following 1s incorrect about photochemical smog?

A, Occurs 1 cool and humid climate

B. Contains mixture of nitrogen oxides. volatile organic compounds like PAN. Acrolein. efc.

C. Tt1s also called Los Angeles smog

D. It1s oxidizing in nature and hence called oxidizing smog

5o 60 3‘&553 RoeoBot) b TS’ DA W8 T?

A o0d, 8 TErd6mRed’ Dd:)ci)m

B. D2 6 yEo Dsdve. PAN Sofd eriydv 86y i ¢ren, A5 DS 20cswrioid
WAL
C. &R Dozdy 5‘&6 ™ L0300

D. es%fdea 3o $9AAIINCE SO uéﬁdea T T Sedadidied

Options :

1.@/“&

Question Number : 156 Question Id : 8135611596 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following arrangements is correct?

& 808 3DDD T5° DB HVBAVD S200?
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Options :
F; > Cl, » Bry, > [,  (Electron Gain Enthalpy)

FE>CLh>Brn>L (dusa s ci)oqr'g):}}
1. % e

F 3 Nzg-w g (Iomization Enthalpy)
C (e9035DEBEs/ BORBEAD oDy

C > B > Be > Li (Atomic Size)
C > B = Be > Li (2063080 H857800)

F, = Cl, > Br, > [, (Bond Dissociation Enthalpy)

Question Number : 157 Question Id : 8135611597 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A first order reaction completed 90%.1m 90 ninutes. Hence. time required to complete
50% of the reaction 1s approximately minufes

w8 DA 708 BE| 90 QANRAVVE” 90% 2P0 0B, Land, ©d 50% JPd
L) DL STV Qadaren

Options :
1. % 50
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4 27

Question Number : 158 Question Id : 8135611598 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
In which of the following processes. entropy of the system increases?
I- Temperature of a crystalline solid is raised from 0 K to 115 K
II- Liqud crystallizing to solid
II- 2NaHCO3 () —— NayC03 5y + €05 gy + H20 ()

IV- Vaporization of a liquid
2od Dorrens” b}g;ﬁ‘{g Doty DB Deraren DA ?
[. 20056 ’ﬂ;éﬁsm.) Egﬁﬁeﬁ 0 K &oc 115 K S0 boﬁ.’ié?{z}:]@
1 208 G520, DOIDETGINT yGEBecsR I
HOI. 2NaHCO3(5) —— NayC03) + COz () + H20 ()
IV. G550 eranBdd:am Bty

Options :
1 % ILIT& IV
o % LIT&III

3 % LI&IV

4 LI & IV

Question Number : 159 Question Id : 8135611599 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct IUPAC name for CH, = CHCH,NHCH; 1s

CH, = CHCH;NHCH; % 28 e900q IUPAC e

Options :
allyl methylamine

TS FS DD

2-amino-4-pentene

2-dF-4-208D

2. %
4-amino pent-l-ene
o x 48 Dots-1-6:9
N-methyl prop-2-en-1-amine
, o N-pS Fo-2-55-1-2S

Question Number : 160 Question Id : 8135611600 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a 4-atom unit cell. where all positions are occupied by A atoms. the body centred octahedral
hole 1s occupied by B atoms of appropriate size. The void space per unit volume of such unit
cell in percentage is

©d) gﬂ:rw A BTNV AoDIER 4 DOAFENHY 0P IS &° 2,8 odhBodes
©VVS Godan B DOV B DOSFHVE DoNIEA. 90 Hotd AP

26 & DA R DBATRANLD (o B DE%W TS, TS

Options :
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Preliminary Key for Master Question Paper

Day-5 (23" Sep 2020) Session-2 (AN)

S.No Ques ID Ans | S.No Ques ID Ans | S.No Ques ID Ans | S.No Ques ID Ans
1 8135611441 | 2 41 | 8135611481 | 3 81 | 8135611521 | 2 121 | 8135611561 | 2
2 8135611442 | 3 42 | 8135611482 | 1 82 | 8135611522 | 2 122 | 8135611562 | 2
3 8135611443 | 1 43 | 8135611483 | 2 83 | 8135611523 | 2 123 | 8135611563 | 3
4 8135611444 | 3 44 | 8135611484 | 3 84 | 8135611524 | 3 124 | 8135611564 | 1
5 8135611445 | 4 45 | 8135611485 | 1 85 | 8135611525 | 3 125 | 8135611565 | 1
6 8135611446 | 1 46 | 8135611486 | 4 86 | 8135611526 | 1 126 | 8135611566 | 3
7 8135611447 | 3 47 | 8135611487 | 3 87 | 8135611527 | 2 127 | 8135611567 | 1
8 8135611448 | 4 48 | 8135611488 | 3 88 | 8135611528 | 2 128 | 8135611568 | 2
9 8135611449 | 3 49 | 8135611489 | 4 89 | 8135611529 | 1 129 | 8135611569 | 3

10 | 8135611450 | 3 50 | 8135611490 | 3 90 | 8135611530 | 2 130 | 8135611570 | 3
11 | 8135611451 | 2 51 | 8135611491 | 2 91 | 8135611531 | 1 131 | 8135611571 | 4
12 | 8135611452 | 1 52 | 8135611492 | 4 92 | 8135611532 | 1 132 | 8135611572 | 1
13 | 8135611453 | 1 53 | 8135611493 | 4 93 | 8135611533 | 1 133 | 8135611573 | 4
14 | 8135611454 | 4 54 | 8135611494 | 2 94 | 8135611534 | 4 134 | 8135611574 | 1
15 | 8135611455 | 2 55 | 8135611495 | 4 95 8135611535 | 2 135 | 8135611575 | 3
16 | 8135611456 | 1 56 | 8135611496 | 1 96 | 8135611536 | 1 136 | 8135611576 | 1
17 | 8135611457 | 4 57 | 8135611497 | 4 97 | 8135611537 | 2 137 | 8135611577 | 2
18 | 8135611458 | 3 58 | 8135611498 |. 1 98 | 8135611538 | 3 138 | 8135611578 | 2
19 | 8135611459 | 1 59 | 8135611499 | 3 99 | 8135611539 | 4 139 | 8135611579 | 3
20 | 8135611460 | 3 60 | 8135611500 | 4 100 | 8135611540 | 2 140 | 8135611580 | 3
21 | 8135611461 | 3 61 | 8135611501 | 2 101 | 8135611541 | 1 141 | 8135611581 | 1
22 | 8135611462 | 2 62 | 8135611502 | 4 102 | 8135611542 | 3 142 | 8135611582 | 2
23 | 8135611463 | 2 63 | 8135611503 | 2 103 | 8135611543 | 4 143 | 8135611583 | 3
24 | 8135611464 | 3 64 | 8135611504 | 2 104 | 8135611544 | 4 144 | 8135611584 | 3
25 | 8135611465 | 4 65 | 8135611505 | 4 105 | 8135611545 | 1 145 | 8135611585 | 3
26 | 8135611466 | 3 66 | 8135611506 | 4 106 | 8135611546 | 2 146 | 8135611586 | 3
27 | 8135611467 | 1 67 | 8135611507 | 1 107 | 8135611547 | 2 147 | 8135611587 | 1
28 | 8135611468 | 4 68 | 8135611508 | 1 108 | 8135611548 | 4 148 | 8135611588 | 3
29 | 8135611469 | -2 69 | 8135611509 | 1 109 | 8135611549 | 2 149 | 8135611589 | 3
30 | 8135611470 | 4 70 | 8135611510 | 2 110 | 8135611550 | 2 150 | 8135611590 | 1
31 | 8135611471 | 2 71 | 8135611511 | 3 111 | 8135611551 | 2 151 | 8135611591 | 2
32 | 8135611472 | 4 72 | 8135611512 | 4 112 | 8135611552 | 3 152 | 8135611592 | 1
33 | 8135611473 | 4 73 | 8135611513 | 2 113 | 8135611553 | 3 153 | 8135611593 | 1
34 | 8135611474 | 2 74 | 8135611514 | 2 114 | 8135611554 | 1 154 | 8135611594 | 1
35 | 8135611475 | 1 75 | 8135611515 | 3 115 | 8135611555 | 4 155 | 8135611595 | 1
36 | 8135611476 | 2 76 | 8135611516 | 2 116 | 8135611556 | 3 156 | 8135611596 | 2
37 | 8135611477 | 2 77 | 8135611517 | 1 117 | 8135611557 | 1 157 | 8135611597 | 4
38 | 8135611478 | 2 78 | 8135611518 | 3 118 | 8135611558 | 4 158 | 8135611598 | 4
39 | 8135611479 | 2 79 | 8135611519 | 4 119 | 8135611559 | 2 159 | 8135611599 | 4
40 | 8135611480 | 4 80 | 8135611520 | 3 120 | 8135611560 | 3 160 | 8135611600 | 1
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